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(DN:Digital Number)

mW/cmesr
] 8 I

DN=gainx R+offset 74 S5l
Dmax |
DN: §
gain: '
offset: i
I
) |

Rmin Fmax

S i B EE (mWoemPsr 2m)



xE bt—-1-1 S FHw FMSSOHE K - BT

CRACmM W /em’sr )

F Y FEAy b 24 v R i 5% Fey b4 y ¥ Fy b3 N R E
R !
. . ) . - \ ] (rm)
Rimin Rmnx Rmin Rmax Rmin Rmax Rmin Rmax
4 0.08 2.63 0.04 2.50 0.04 2.38 0.04 2.38 0.1
3 0.06 1.76 0.03 2.00 0.04 1.64 0. 04 1.6 0.1
6 0.06 .52 0.03 1.65 0.05 1.42 0.05 1.42 0.1
T 0.11 3.91 0.03 4,50 0.12 3.49 0.12 3.49 0.3
(FeifLo—74 vlERT).
R=V/Dmaxx  Rmax-Rmin)+Rmin
V DN)
R DN
Rmax,Rmin
Dmax:TM 255 8 MSS 127 7

DN



Dmax

TM(MSS) 255(127) (128)

™

TMOBANF (N2 F6) DF—HIC

B-1-2 5 K4 P
B HHHEER (mW /em? »sr » #2m) " ZFHy FSSETMORKX - B/ B EE

(Hfrmw/cm’sr )

FHHRE T (K) oM&iL, Py K g
PR T F K min Rmax

R=5.1292 x 10 ~*T*- 1. 7651 X (#m)

o - _ X 2 —0.0227 2 404 0.081
LB ohd, 99 VE 0 ICHIG

| 3 —0.0083 1.410 0.069
T HIRAEIT 200K, 255 icadind BRI 3 00104 - 0 190
340 K TH 5, 5 —0.00799 0.5873 0.216
7 —0.00375 0. 3505 0.250
6 0. 1534 1. 806 1.239
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